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Is SSA a valid method for proving A =~ ?

Is SSA a valid method for proving A =~ ?

Nope



Is SSA a valid method for proving A =~ ?
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Is SSA a valid method for proving A =~ ?
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Is SSA a valid method for proving A =~ ?

Nope ... except ... for one special case ...

Right triangles ...
| XJP\\
?\R Y é

Is SSA a valid method for proving A =~ ?

Nope ... except ... for one special case ...

Right triangles ... we call it Hypoten

P X




Theorem 46: Hypotenise Leg (L) Thm,

If the hypotenuse & a leg or 1 right A are
~ to the hyp. & leg of a 2nd rt A

Then the A's are =~

P X
%\ = %\
Q R Y VA

Given

PR=XZ My =

PO = XY | (air \efs = s
LO&LY arert £'s

AR

Prove

APRQ =~ AXZY

P




Given PR =~ Xz
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LO&LY arert L's
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Given PR =~ Xz
PQ = XY
LO&LY arert L's
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Given PR = XZ
PQ = XY
LO&LY arert £'s
Prove APRQ = AXZY

QL

<L
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Given PR =~ Xz
PQ = XY
LO&LY arert L's
Prove| APRQ =~ AXZY

Construct ZY

Given PR = XZ
PQ = XY
LO&LY arert L's
Prove APRQ = AXZY

Mark Son ZY'so YS = QR
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Given PR =~ Xz
PQ = XY
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Prove| APRQ =~ AXZY

Given PR = XZ
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Prove APRQ = AXZY
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Given PR =~ Xz
PQ = XY
LO&LY arert L's
Prove| APRQ =~ AXZY

Given PR = XZ
PQ = XY
LO&LY arert £'s
Prove APRQ = AXZY
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Given PR =~ Xz
PQ = XY
LO&LY arert L's
Prove| APRQ =~ AXZY

Given PR = XZ
PQ = XY
LO&LY arert £'s
Prove APRQ = AXZY

ZPQR = 4XYS allrtL's =
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Given ﬁ ~ E

PQ = XY
LO&LY arert L's

Prove APRQ = AXZY

3

Ol

1
3
~<

given

Given ﬁ ~ )E

PQ = XY
LO&LY arert L's

Prove APRQ = AXZY

APQR = AXYS SAS
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Given PR =~ Xz
PQ = XY
LO&LY arert L's
‘ Prove| APRQ =~ AXZY

PR =~ XS CPCTC

Given PR =~ X7
PQ = XY
LO&LY arert L's
Prove APRQ = AXZY

Q ' R
X
::: %
X
Y

17



Given P_R =~ )E

o= X7
LO&LY arert L's
Prove APRQ = AXZY
X
XS = X7 trans POC S Y
Given PR =~ Xz
PQ = XY
LO&LY arert L's
Prove APRO = AXZY
X
/\
: \,.\
S Y ‘
ASXZ is isosceles defn isos A ISOSC A
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Given E ~ )E

PO =XY
LO&LY arert L's

Prove APRQ = AXZY

Givenﬁgﬁ
PO = XY
LO&LY arert L's

Prove APRO = AXZY

LS= L7 Isos A Thm
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Given ﬁ ~ X_Z

PQ = XY
LO&LY arert L's

Prove APRQ = AXZY

Given ﬁ ~ )E

PQ = XY
LO&LY arert L's

Prove APRQO =~ AXZY




Given PR =~ XZ
PQ = XY
LO&LY arert £L's
Prove| APRQ =~ AXZY

AXYS = AXYZ AAS

Givenﬁgﬁ p
PO = X7
LO&LY arert L's
| Prove| APRQ = AXZY a

~APQR = AXYZ trans POC
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Given ﬁ ~ E

PQ = XY
LO&LY arert L's

Prove APRQ =~ AXZY

Construth__Y: o
Mark Son ZY'so YS =~ QR

ZPQR = £XYS
PQ = XY

APQR = AXYS
PR=XS

XS=XZ

ASXZ is isosceles

LS~ ZLZ

AXYS = AXYZ

APQR = AXYZ trans POC

GED

P X
?\H ?\l

X

1) The 2 A's are it A's

2) Hyp =

3) 1 pair legs =~
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ASRP = AQPR by HL Thm
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BT TN

ASRP = AQPR by HL Thm
1) Show rt A's:
2) Show hyp =: S

3) Show legs =~

B

ASRP = AQPR by HL Thm
1) Show rt A's:  LSRP, ZOPR rtZ's markings
2) Show hyp = S

3) Show legs =~
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BT TN

ASRP = AQPR by HL Thm
1) Show 1t A's: LSRP, £ OPR rtZ's markings
2) Show hyp =~: SP = RQ given S

3) Show legs =:

B

ASRP = AQPR by HL Thm
1) Show rt A's:  LSRP, ZOPR rtZ's markings
2) Show hyp =: SP = RQ given S

3) Show legs =~: PR =~ PR refl POC

25



Need rt A's

26



Example-Pg 219 #5: Whataddiional nfo need o prove AMCQ=AGCTbv LY

Need rt A's

‘ A G

LAKLG Q J

Need rt A's

SAn LG or LO&LT Q J

27



Need rt A's

S R T

Given PS =~ PT and ZPRS =<4 PRT
Prove APRS = APRT

' are T L$
@KT AS A E_:‘P qu"lu-u&

L Asre , smep ex A5 P

@) Hye: 37 ,FT e Wp (o &7 £
g‘,\, PT s.nn (kai'o\,‘)

@3 Legs: PREPR el Foc

28



e

R

Given PS =~ PT and ZPRS =4 PRT S 7 T
Prove APRS =~ APRT

L PRS = £LPRT given

L PRS,Z PRT are supplemental given P

Z PRS,ZPRT are rtdL's Thm 2-5

APRS & APRT arert \'s defn rt A

SP =~ PT (hypotenuses) given

PR =~ PR (legs) refl POC

.. APRS = APRT HL

OED

Again -t use the HL Theorem, show

1) The 2 A's are it A's

2) Hyp =

3) 1 pair legs =~

29



LA-GHW Problems

Pg219 #1-11 odd,
14-17,
19, 20, 28, 31,
35-46

30



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30

